
𝐺𝐶𝐹 = −1
−𝑎 − 𝑏 = −(𝑎 + 𝑏)

−𝑎 + 𝑏 = −(𝑎 − 𝑏)

𝑥 + 𝑎

𝑥
⎯⎯⎯⎯⎯≠ 1 + 𝑎

Common Mistakes

𝑦 = 𝑓(𝑥)

±; 𝑃𝑙𝑢𝑠/𝑀𝑖𝑛𝑢𝑠

    𝑥ଶ = 9

ඥ𝑥ଶ
⎯⎯⎯ 

= ±√9
⎯⎯ 

      𝑥 = ±3

                       𝑥ଶ = 9
                𝑥ଶ − 9 = 0
(𝑥 − 3)(𝑥 + 3) = 0

            𝑥 = 3  𝑥 = −3

           𝑥ଶ ≥ 9

       ඥ𝑥ଶ
⎯⎯⎯ 

≥ ±√9
⎯⎯ 

   𝑥 ≥ +3     𝑥 ≤ −3

           𝑥ଶ ≤ 9

        ඥ𝑥ଶ
⎯⎯⎯ 

≤ ±√9
⎯⎯ 

𝑥 ≤ +3         𝑥 ≥ −3

      −3 ≤ 𝑥 ≤ 3

Radicals: Laws

Quadratics

Solving

Inequalities: Laws

Absolute Values
" + " 𝐶𝑎𝑠𝑒
" − " 𝐶𝑎𝑠𝑒
𝑃𝑖𝑒𝑐𝑒𝑤𝑖𝑠𝑒

Reciprocals
VAs NPVs
Invariant points (𝑥, ±1)

Rationals
Restrictions

Sequences Series
Blanks 𝑡௡, 𝑛, 𝑑, 𝑟
After!

Trigonometry

SOHCAHTOA
We only inverse (+𝑙𝑒𝑛𝑔𝑡ℎ𝑠) = 𝜃௥

𝜃௥ 𝑖𝑠 𝑎𝑙𝑤𝑎𝑦𝑠 𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒, 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 0௢𝑎𝑛𝑑 90௢

Substitution 𝑚 = 2𝑥
Calculator
Systems 𝑦ଵ = 𝑦ଶ 𝑜𝑟 𝑦ଵ ± 𝑦ଶ = 0
"c" is the only angle in the cos law/

x + a

x
⎯⎯⎯⎯⎯=

x

x
⎯ +

a

x
⎯ = 1 +

a

x
⎯

4 + 3

4
⎯⎯⎯⎯⎯=

4

4
⎯⎯+

3

4
⎯⎯= 1.75

4 + 3

4
⎯⎯⎯⎯⎯≠ 1 + 3 = 4

√𝑥 + 4
⎯⎯⎯⎯⎯ 

≠ √𝑥⎯⎯  + √4
⎯⎯ 

Separate/Add Fractions

ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

≠ 𝑎 + 𝑏

1

2
⎯⎯+

𝑥

2
⎯⎯=

3

2
⎯⎯

1

2
⎯⎯+

𝑥

2
⎯⎯≠ 1 + 𝑥

FOIL a conjugate F & L (because O & I cancel)

−
𝑥 + 1

2
⎯⎯⎯⎯⎯= +

−𝑥 − 1

2
⎯⎯⎯⎯⎯⎯

𝑪𝒐𝒓𝒓𝒆𝒄𝒕𝒊𝒐𝒏𝒔

ඥ3ଶ + 4ଶ
⎯⎯⎯⎯⎯⎯⎯ 

≠ 3 + 4 = 7

ඥ3ଶ + 4ଶ
⎯⎯⎯⎯⎯⎯⎯ 

= √25
⎯⎯⎯ 

= 5

ඥ𝑥ଶ
⎯⎯⎯ 

= |𝑥| = ±𝑥

30௢𝑁𝑜𝐸

𝐸30௢𝑁

N

S

EW 30௢

OR

Add/Subtract: Must have Same Index & Radicand!
Multiply/Divide: Must have Same Index* 

Exact Value (Algebra) OR
Decimal (Calculator)

Degree Mode
Radian Mode

𝐺𝐶𝐹 = −1 /Distribution

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦
𝑏𝑦 𝐿𝐶𝐷

  
𝑎 − 1

−1
⎯⎯⎯⎯⎯= −𝑎 + 1

(𝑥 + 2)3 = 3𝑥 + 6 Back Distribution

(Intersection of 
Original Graph-
Line 𝑦 = ±1)

𝑥 − 𝑖𝑛𝑡 𝑜𝑓
𝑜𝑟𝑖𝑔𝑖𝑛𝑎𝑙

30௢ Towards North From East

From East 30௢ Towards North

𝑒𝑣𝑒𝑛 = 2𝑛
𝑜𝑑𝑑 = 2𝑛 ± 1

B

C

A

ba 𝐴𝑟𝑒𝑎 =
1

2
⎯⎯𝑎𝑏 𝑠𝑖𝑛𝐶

c Angle In-between Sides
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